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| Semester 3 Year LL.B./ V Semester 5 Yr. B.A.,LL.B. (Maj.-Min. System)/
V Semester 5 Year B.A.,LL.B./B.Com.,LL.B./B.B.A.,LL.B.
Examination, March/April 2021
CRIMINAL LAW - : INDIAN PENAL CODE

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and any 5 of the
remaining questions.

. Question No. 9 carries 20 marks and the
remaining question carries 16 marks.

. Answer should be written completely either in
English or in Kannada Completely.

Reuddivo :1. PB 9 R OE ARYTIREA BT, LS00,
2. F89% 20 wosnsd I Yovs B3 FI 16 wosnih.

3. WSTIT) worg L FNBEO DoFproron W0,

Q. No. 1. What are the principles of legality provided under criminal law
and state the protection available to the accused. Marks : 16
OTOT IR VRO CIRT 0INE TPIRTIF S NI)
DEBOUE TP TR ACWRT TIBRTFD ? S0

What is meant by private defence ? State when such private

defence be pleaded and is lost. Marks : 16
SPRN T dijﬁ Sﬁ% QOTBED ? RN T diiz%oﬁoaﬁi odwwen
é)zsa@&a‘w&od: &2y odween 6@&&9@%@35 2 EPA.

“A corrective or rehabilitative theory is an effort to restore a

man into society as good citizen”. Discuss. Marks : 16
“WORT BowodT ©Fm B m@a}zbd %onS@ sﬁgw@(

RERRDY, ), WYOD TNOTITN 20STONRS FodBoNTS .

WRIFA.
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Q. No. 4. What is meant by unlawful assembly and state the ingredients
of it ? Marks : 16

FORAINPET BruSerwdesd 9 Y |ws u%oaﬁﬁ#ﬁi N

. What is hurt ? Explain the circumstances under which hurt
becomes grievious hurt. Marks : 16

MO 0T ? o3RI RoTIFTIFd). Mooy SO
mcmmécf QIO

. What is Robbery and how does it differ from Dacoity ? Marks : 16
O DoTBed SR RO TBReEAS Bert RINS ?

. What is force ? State when an act becomes a criminal force. Marks: 16
WO Q0WBEID ? oIRTN 2,00 %35@ Ehslonta: WOTRNZT. S9A.

. Write short notes on any two of the following : . Marks:: 2x8=16
B NI oInPEan DTBE, OPO LTS BCWO :

(a) Cheating
Sowds

Adultery
352;)2336

(c) Criminal intimidation.
LOTTOT ST,

Q. No. 9. Solve any two of the given problem : Marks : 2x10=20
NS CIRJTER T mf-n;n’#afg‘ TOTOX

(@) ‘A’and ‘B’ agree to fence with each other for amusement
and in the course of this act, ‘A’ pierce into the stomach
of ‘B’ and causes grievous injury. Is ‘A’ liable for this act ?
‘A’ B’ <35owsmen 38 TORODR) sB@e WRBRWZ]S,

‘dooﬁod@ ‘A 3o B od mwj ?sziasaé Qdd
TOOT®ITON 3¢, MOLTNIZT. S5 5’35’ A oI,
ara#odmh,uwo'&de‘?
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(b) ‘A’ affixes in a public place instigating a sect consisting
of more than 10 members to meet at certain place for
attacking ‘B’ at a procession. Is ‘A’ liable for the offence ?

A Q0TI T RO, RITIR wouss 2o
BweF B wINY doeeg_)u% 20T m’oz{cs‘ddg( WEOMRBED
8T, ‘B’ So0=edrt RZeDTEY. J0ER TBOToZ
Fedeabzs. 83 ggagn Ao mmmn RncEse 9

‘A’ instigates ‘B’ to instigate ‘C’ to commit the murder of
‘D’. 'C’ commits the murder of ‘D’. What is the liability of
‘A’and ‘B’ ?

‘A’ 03w ‘D'c:baigt 308 IS Jeswn ‘B’ A CSYATON AR
SR B’ odo ‘C'R BUReDS INBToZ Bew ‘C’ oo
Do 808 Ina@en ?gobg‘x’oagﬁ ©woed ‘C'odn ‘D’odd
iraeﬁabdg( mmﬁ B39 ‘A’ DD ‘B'od Bemmodd
A ?
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| Semester 3 Yr. LL.B./V Semester 5 Yr. B.A., LL.B.
(Maj.-Min.- System)/ V Semester 5 Yr. B.A., LL.B./B.B.A., LL.B.
Examination, Nov./Dec. 2020
CRIMINAL LAW -1
(Indian Penal Code) (Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question No. 9 and any 5 of the
remaining.
2. Question No.9carries 20 marks and the remaining
question carries 16 marks each.
3. Answer should be written either in English or
Kannada completely.

Define crime and state the essentials of crime.

— —_——— 9 2 °
STOIFRR), TN TR LTOITNG B0, 5.3 uCuﬁY*Q SPA.
<P vy g

“Unsoundness of a person is a good defence for criminal
liability”. Discuss.

“—d < — — o vy £\ —_— =2 2 -~
B0 TOTAT WSO ROQT WP, 3N

-f.-a g D)) ,,i,,_z—n
“v:b..,’ . WWOT AL

What is common intention ? Is it necessary that the common
intention should always be anterior to commission of crime ?

Explain the provisions of Indian Penal Code relating to the
offence against the state.

- = P\ et et pdod O
S0 RO ATTHOD «OOT &3

@
VT WOTNES. %, WWOA.
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Q. No. 4. What is meant by unlawful assembly and state the ingredients
ofit? Marks : 16

FIAINPET BRLHPE3Rd ? ) |@d u%osﬁ@d‘)* 393

- What is hurt ? Explain the circumstances under which hurt
becomes grievious hurt. Marks : 16

OB 0TTER ? o= RoTIFr NP, Mooy SeIrodd
YUOERTZT, T[OR.

. What is Robbery and how does it differ from Dacoity ? Marks : 16
O 0T B Bdricdn BBeerEncd Bert RINS ?

. What is force ? State when an act becomes a criminal force. Marks: 16
WO D0TBEI ? oREPN 203D B VTR WOTNZE, SPA.

. Write short notes on any two of the following : 8 Marks:: 2x8=16
3 NS IR T3R adcsg 0TV T3 B0 :

(a) Cheating
T023I

Adultery
Jesd

(c) Criminal intimidation.
BTRET 363,

Q. No. 9. Solve any two of the given problem : Marks : 2x10=20
NS oIR8 HTEd ;ﬁdofgsn’#wi TOBOX :

(@) ‘A’and ‘B’ agree to fence with each other for amusement
and in the course of this act, ‘A’ pierce into the stomach
of ‘B’ and causes grievous injury. Is ‘A’ liable for this act ?
A 03 ‘B’ &ITozSren 33 eﬂo‘”oﬁom ST LBRWTS,

-’d;o:od:) ‘Aot B b &awﬁ zsbzaba'aﬁ cazﬁd
BOTOTN 36w, MRODTONIZT. B8 5:)3;5; Dy O,
d@?gwa&deq
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(b) ‘A’ affixes in a public place instigating a sect consisting

of more than 10 members to meet at certain place for
attacking ‘B’ at a procession. Is ‘A’ liable for the offence ?

‘A 0BT TOTFHIT RIS, VITIT ot _Y
Doeesd B =ING Boewwd) 2o a;“orfca’aidgt wEDMREED
SBN ‘B'od RooDesdrt ADDTY B0 BT
Fedebes. 83 3ERN Ao mmw@ R 9

‘A’ instigates ‘B’ to instigate ‘C’ to commit the murder of
‘D’. ‘C’ commits the murder of ‘D’. What is the liability of
‘A’and ‘B’ ?

‘A ow ‘D'Q'SJZQL 88 SInaE%T Zeown ‘B’ A TedoedsS
Snede ‘B’ ot ‘C'R TBReSS BT Bew ‘C’ oo
D'ad 3nd Indew gwoa;tﬁa@_pa? 8003 ‘C'odn ‘D’odd
iraeBodoa&gt a’smebapﬁ B3O ‘A’ B ‘B'od Besmod
A9




0105/2045/0524 2- | O O 0 0 O

Q. No. 5. What is kidnapping ? State the ingredients of an offence of
kidnapping from lawful guardian. Marks :

o (R PR g )
TR0 NOTOLR0 ? wuww »Jvdﬁf—v:w EIWDORORTO

et o

o o o
00T WPOTNT SPA.
=<

What is theft and how does it differ from Extortion ?

= o Ao ) =D RS 2
$3 0TI = WERTI DEFB,0S TF A 'C;:Jmf\z 9
< n o %

What is defamation ? State the exception if any.

e, g, O — —3 4—/ A g S pu)
DNTTOR  NOTTCW B0 AT,  CINYTRTR
-2 v

928
OYA.

Write short notes on any two of the following : Marks : 8x2=16
FINS CINTZTTETR HTWE, OO €368 2000000 :

(a)

(b)

(€)

Solve any two of the following problems : Marks : 10x2=20

- — — e = o et B .
QORR)TOTOR 2T FORNTRO WD :
3 =

(a) ‘A’ atthe time of carrying his work by hatchet, the head of
the hatchet flies and kills a man who was standing near
by. Decide whether ‘A" has committed an offence.

. ’ —— N
N AD YYo=
A’ Q0T 3D .:-\)W;‘v o
- 3
2 £5 AN o0Rpo=rla=t 3 PooT
HEROVOT 2Ie:F D e
4 -

= 2
TOOWROBE. ‘A’ 030 oI

ROLTR '.wr FOA.
%
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(b)

‘A’ o3

L] 3 0105/2045/0524

‘A’ instigates ‘B’ a minor to commit suicide on account of

this ‘B’ commits suicide by his ownhands. Is ‘A’ liable for
this act ?

~ — £ ~od o
A w’?@ife‘.\{&.

Dedee Croc)

0%~
0 w0l <

e I (3 R s o0 €
20 BRTEMOIRNRLWTIOTE ?
4 «€

‘A’ finds a valuable necklace on the road, not knowing
to whom it belongs to, he sells the necklace without an
attempt to find its owner. Whether ‘A’ has committed any
offence ?

A R A B s
A’ N 20T WSV

o = 2\t N
03RONR  AOTLITOTOT

RAFDIE FD AR = At
TOLVWW UMW o) LN
2 Y Y

S = e 5o )
QAR TTTL OO0
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| Semester 3 Year LL.B./V Semester 5 Year B.A. LL.B. (Maj.-Min. System)/
V Semester 5 Year B.A. LL.B./B.B.A. LL.B./B.Com. LL.B.
Examination, December 2019
CRIMINAL LAW -1
Indian Penal Code
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer question No. 9 and any 5 of the remaining
questions.

. Question No. 9 carries 20 marks and remaining question
carries 16 marks each.

. Answer should be written either in English or Kannada
completely.

; :;:z ﬁos{,g TR NPT m@mwmsg SUZORD.

. BY Rozd, 9 20 wovnich or T3 IIrort 16 ©osned.

¢ erogdﬁ&jsﬁi RoTRearson Pon RN L5 sgwwqwe
LBOW0.

Q. No. 1. “When a criminal act is done by several persons, it may be
construed to be done alone”. Discuss. Marks : 16
“BoR FIrieon IRBT FIHI), WEONCIRN TRBOLE 0T
QUFORRWIOT. IFR.

Explain the nature and extent of an act done by the child in a
criminal offences. Marks : 16

202D D RN FZE STOIE ToBSONTY, WERBY, [T

xS

™ DB RORTIRD e3IFA
a0 -2 & <

Explain the law relating to abetment and state when an abetment

committed outside India is said to be a offence committed in

India. Marks : 16
d}ﬁgd?éﬁ ROWORAIT wa’:aaisi DF[OY TRR odnRwEn TS

IJROR IBT doaa;edﬁéom PRUSTY, SToATTNIZE SO
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Q. No. 4. Explain wrongful restraint and wrongful confinement and state
the punishment of such offences. Marks : 16

o3 wops Yy L3> Fwopsy dZoy DI = Ao
QR BEOR B0%.

Explain cheating. When does it becomes cheating by personation ? Marks : 16

SorSaBd, HFOk. TowSado odwmen QYT Ik
SoURPRBL 9

Define theft. When theft becomes a Robbery ? Marks : 16
&5355;13‘ WWTAIN. IR GBI BReBAIRTZT ?

Explain briefly the offences relating to marriage. Marks : 16
msg bsforRlelas Tatort ea;‘ca:ﬁﬁ#:g #oﬁmn QTOR.

Write short notes on any two of the following : Marks : 8x2=16
8 3INS CIRFYBde 2OWE OPO €TE WD :
a) Mens rea
Soenlal e vy
b) Criminal breach of trust
BToRE Jowd BReB
c) Mischief
ged.

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20
FINIINIE canPretide STW gsdm@aa W0 :

a) ‘A’ an officer of the court, on being ordered by the court to

arrest ‘B’ and after a due enquiry, believing ‘C’ as ‘B’ arrests
‘C’. What is the offence that ‘A’ has committed ?
‘' 030 mzsomeo::d e@momf\d% 2 ax%wneccbd Udezﬁd&g
TORDJTOY, ‘W o), wWoRBeLD BwowmerEs. oS3 xeg
MNPTBODTY, SRR ‘HoI) ‘W'odord SO AR,
WORROT. ‘2’0 CIRT STIFITY, IR ?
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b) ‘A’ along with two women who happened to be the only
passengers on the boat was crossing the river which is
in-charge of ‘B’ a boat men. While the boat was moored on
the river. ‘B’ left it with for some work. ‘A’ with the intention
of horrifying the two women unfastened the boat causing
the boat to lightly drift. Can the two women prosecute ‘A’
and if so what offence has ‘A’ committed ?

@00 [ DLIaDoR), BRoDIBY [T BQR
BRDTY, Brerdcddd, SODI) B ‘Wb T8I
BrerdodY, BosnesRozs. Beerdodn SOcHY, mordwen
ok BRerdols) Wi, SBRomd foRg BRrdHRS. ©
ReHoDTA)_ ' o3 B3 ‘a&g)da d)aoéoxadag( PobTRRE BesN
TRer3oR), AR, FTE00T Brerdodn 3@ Reddss RO
BRTUBYDE BOWNToZ RIS, B3 ToOeoN B3 Qs>
Bo&PoDHD mmai;‘ eaﬂcazsmﬂn TOOTRRWBITIE eﬂgq, odns
ewoaz;!agn 2

‘X’ a brahmin married ‘Y’ who belonged to Vysha community
in the temple. Later he obtained a release from the wife
and marries ‘Z’ from a brahmin community in the style of
ceremonies of brahmin community. Has ‘X’ committed any
offence ?

‘DT QOB T, ‘T oW 33 umoﬂ% RedT
db&ﬁoi)&di dem%sdd; SoTBoIRORS. Se3T 3D Sg
ToBd3 ‘F'I wANE wgdag TED ‘TPE” 20w WRFED
&mnocbdg‘ IRREIT RoBTRODTE e pleLiobvicntd
QQ, ‘WD INT LTCFI), BRRDHRS ?
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| Semester 3 Year LL.B./V Semester 5 Year B.A.LL.B. (Maj.-Min.-System)/
V Semester 5 Year B.A.LL.B./B.B.A.LL.B.
Examination, June/July 2019
CRIMINAL LAW -1 : INDIAN PENAL CODE
(Old and New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Question. No. 9 and any 5 of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks.

3. Answers should be written in English or Kannada
completely.

. “A person can be held liable under Indian Penal Code for
committing an offence beyond the territory of India”.
Discuss.

“303 BorER0k3 BRODE L) FFID P03 msew

gowor BRORE RREE oBoar DI MO
2.5?.39'~

. Explain the nature of mistake of fact and law and state the
exemption to a person from criminal liability.
WD 3F) FOT DY) PIRAI 35), 3ORBD eimﬁ%o
230 TR uw d%o:h) = ewoac‘:bi BRSO
mimmmwoise ‘7 SR

. Explain the ingredients of an offence for criminal conspiracy
with illustrations.
WTOIPT 2BRD PLTOBNY VTR BRELOT DO

. What is Hurt ? Explain the circumstances under which hurt
becomes grevious hurt.
oD 0BBeRd ? cINT Bower TG Mo 6
MORTOMIZES ESOR.
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Q. No. 5. What is kidnapping from lawful guardianship and how does
it differ from abduction ? Marks : 16
a@wd@ RoTBBOOT STBORRYW 0BTE> TN Ard
BTBOOOT Sert RIS 92

Explain forgery and when a person is said to have made a
fake document ? Marks : 16
I8 =g ée,—:{_@’cdn’i QTOX TN o3RI W), dé_z}om :’o»}%

DS #g)e& ai:aamaéoda TR ?

Define Adultery and state the recent development as to

adultery. Marks : 16
dgszpmdaisi WA ToNR a’gdzpzaadg RowoRAToB 3geeds

d@drﬁﬁo&adg{ 2.

Write short notes on any two of the following : Marks : 8x2=16
B NI YT R NORE OTO TS WIoWO :

1) Actus Reus.

2) Wrongful confinement.
B TSP,

3) Theft.
3¢,

Solve any two of the following problems : Marks : 10x2=20
FNSZHnPS), IRt o sgsdtarfeddg‘ WRBORO :
a) ‘A’ being the father of 8 years old son butched him in
order to praise and propitiate a deity. Can ‘A’ plead a
defence of insanity ?
‘@' 030 0D TIRE NI Sodommﬂod TIeT=,
LORBRYLD & LT WO B, JoId 3T,
#da@miw%d TN w%@#véc&d& ROARBE Bw3e
wODTOIRRIETIe 9
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b) ‘A’ with other of his friends who intended of killing ‘B’ invities
him to a particular place in a pretext of resolving a long
standing dispute between them. ‘A’ with his friends soon
after ‘B’ and his friends reached the spot, they all killed them.
What offence ‘A’ has committed ?

‘@ ol 3 RSB0 BeoBROR ‘2 0RY, e

T3 EBR0T “wgRoER) B ‘20 o), IR Fdod zﬁe RS,
uﬁ&‘mimm %) 20T ST, uocb NCJF% mﬁi esaa zomi
‘@ o3 3Z ~$z$ddnoa>ﬁ m::a & ,oe}% 20T mwcie eﬁdde)d-sa
BRELNZTT. “Yodn o ewmzﬁdm aﬂm@d&@ﬁ 2

A Hakim operated to patient on the eye with an ordinary
scissors and dressed the wound with the needle, thereby
causing a permanent damage to the eye of the patient. What
offence has the Hakim committed ?

W), Bdeo 33 dpeNod Boed MBPF T 33000 WY L

8”?36301353 mma N030 & rvaoi)dai) uodo Nrazio:nod éﬁ@cb
a'bozibsaﬁ mm e.-sdi? wwcxbsa imé 6& o0domN & BreNn

zmﬁ 3@?\ 33 Ssérﬁ asa;’oomrbsd Beeosd oI eﬁwowddo
dm@dasadv
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| Semester 3 Yr. LL.B./V Semester 5 Yr. B.A.LL.B. (Maj.-Min.)/V Semester
5Yr. B.A.LL.B./B.B.A.LL.B. (Old/New) Examination, December 2018
CRIMINAL LAW -1
Indian Penal Code

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining
questions.
2. Q. No. 9 carries 20 marks and remaining questions carry
16 marks each.
3. Answer should be written either in English or in Kannada
completely.

Explain the elements of crime. Marks :

————— e e e o N -8 £
ORTRW VOINTR2 wWdO0A0.

Critically examine the defence of mistake of fact and mistake
of law.

D)

Jon&od) SHNMLE Tornn TOTII SYN,LFOD  T,80F0)

= 3

O e o sy, (g o v, & - 2.
WD 30’;06.(\ OCT AL,

& Y

Define and distinguish between “Giving false evidence” and
“Fabrication of false evidence”.

Define rape. Discuss its ingredients with recent developments.
WOBT TOWRENSDY TOyPAAD. B3ess WFSHnnYeonn

T waded=dN  nxdol~~o ¢
QT DEITOINT.  2323F 0.

In all robbery there is either theft or extortion. Explain.
Y, WORTL LIWFNYY, YY) VYT WORT TEd A Q\
)

fadag‘cj‘ . ROD.

Define forgery and making a false documents under Indian
Penal Code. Marks : 16

o =2 009 =
WAl NN
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Q. No. 7. Explain the territorial and extra territorial jurisdiction of Indian
Penal Code.

Q. No. 8. Write short notes on any two :

B, TEZ, T[oBY Tox, FoI,
W - -2 )

o oA

OIRYTOWB R a:wi OPO 3TeF W3O :
o

(a)

(b)

()

Q. No. 9. Solve any two of the following problems :

Causing miscarriage.
mp’rmé’as&; 08D WRBR)W.

Abetment.

o )
M%@U?’J

Dishonestly.
X, BIEFTN.

FINSYNTE, cCanYmemTce TEd T, FONTTY, WREBOR.

(@) ‘A’ writes the University examination falsely representing

as ‘B’. What offences committed by ‘A’
o ‘B’ 0t 3zmon FEPR ‘A3 BT, TOBODIL)

WBE0TVSE. ‘A’ cdRYTTER 3 wa@a%éo&)e ?

‘A’ who is in love with ‘B’ takes her away from her parents
to marry. He presumes her to be 21 years old, but she is
only 17 years old. A has committed any offence.

‘A'cd BIodR) &, edmEm) ORI SordEcdnned sy 3ot
F2000MYOT TAT ER0EACINTVS. ‘A'cdn ‘B'od STODII), 21
ROTL FOWTOTVE. T ‘B'od WOR 17 SJ|EMed. ‘A’odo
CIRE STONGHIY, [WRRTZE ?

‘A’ shakes his fist at ‘B’ intending or knowing it to be likely

that he may thereby cause ‘B’ to believe that ‘A’ is about
to strike B. Whether A has committed any offence ?

@ D W N BeBdcoTIow [owd vowd SHRES
ercciwacc: S ST Tt Jowdwm  Fogg@Bdodord
00R '¢ W W A B 0K TEdrRES. ‘@ &
CRFYRTOR SToG JRRmFode ?

I 0 O 0 A

Marks : 16

Marks : 8x2=16

Marks : 10x2=20
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| Semester 3 Year LL.B./V Semester 5 Year B.A. LL.B./B.B.A. LL.B./
V Semester 5 Year B.A. LL.B. (Maj.-Min. System)
Examination, June/July 2018
CRIMINAL LAW - | (Indian Penal Code)

(Old/New Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q. No. 9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or in Kannada
completely.

What is ‘mens rea’ ? State its significance in statutory offences.
Marks :
Ehsteptal i DOTRY, ROTTER ? TRV VICFNYE T

TRRODIODI) 020,

What is unlawful assembly ? When does it become rioting ? Marks :
B BpwHorderd ? cdnmRn 8w WeoRAIRRZE ?

What is culpable homicide ? Explain under what circumstances
culpable homicide does not amount to murder ? Marks :

ToOT S0, womBed ? oInE RoBIrneE), ‘T Somg,
3RS HRARPOY, @omd&g{ WTORD.

Define rape. Discuss its ingredients with recent developments. Marks :
wOTT #oz,imrﬁdaigt TOLPARD B3 WSednkndnodn wmd
a;w@oefﬁ#ag W37 0.

“In all robbery there is either theft or Extortion”. Explain. Marks :

"2g, AR BToFRTY, 39 Qs wm%&w QTIe |TITLS”.
QIO
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Q. No. 6. Explain the ingredients of the offence of ‘Michief’ with illustrations. Marks : 16

‘DR (Crieniaia) wmosmssi VTIOBOHBNARODN QROD.

Q. No. 7. Define forgery and making a false document under Indian Penal
Code. Marks : 16

RORARS 3oy R TBaRens SIS eV VR ADLe ) BB Ro&30D
BRODY TOYPER.

Q. No. 8. Write short notes on any two : Marks : 8x2=16
O3NR) T3P add% OFO LT WBOWO :
(a) Abetment
BRSO
(b) Causing miscarriage
Kzﬁrméda’gpw SRR

(c) House breaking
2O3N 55:1@&35)60

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20
FINSDNT, ORR)TTETR NTT gﬁdmr{#@( WRBOD

(a) ‘A’ shakes his fist at ‘B’, intending or knowing it to be likely
that he may thereby cause ‘B’ to believe that ‘A’ is about
to strike B. Whether A has committed any offence ?

‘0 ‘2 IR BREODVTSow Fowd Vot IPES emcgemod
AT LTI TN [OWOR ROLIBATOI0TD 9T ‘e’ B ‘W’
;I B3, ORI TTEF RS, ‘&' CINFTTETR STOG
Sn@m[ode ?
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(b) ‘A’, acarrier is entrusted by ‘B’ with a television to be carried
by road. A dishonestly misappropriates the television. What
offence that A has committed ?

‘e DOW W), B080 @IIN ‘W D 3’5* wao‘bﬁi
IR0 BHATRS. BTT ‘@R LoD BTWResTN
DoRFR3RNRDTRS. ‘@ D o3RS TG BRIRS ?

‘A’ says — “| do not believe what ‘B’ asserted at the trial
because | know him to be a man without veracity”. Is ‘A’
committed own offence ?

‘'R TYOD NHPTHODE). “ ‘WD TFPEFON ée@daai)dagmdb
SowoRoe , odRdend C ) ;»‘%dagtcéoai ds&a\;ée o)
QOTD TSI, 2e) ‘D ORI R FRRATE ?
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First Semester 3 Year LL.BJ/Fifth Semester 5 Year B.A.LL.B.
(Maj.-Min. System)/Fifth Semester 5 Year B.B.A.LL.B./Fifth Semester
5 Year B.A.LL.B. Examination, December 2017
CRIMINAL LAW - | (Indian Penal Code) (New/Old)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q.No. 9 and any five of the remaining questions.

2. Q.No.9 carries 20 marks and the remaining questions carry
16 marks each.

3. Answers should be written eitherin English or in Kannada
completely.

What is crime ? Explain the difference between crime and tort. Marks :
BTOVG 0BT ? SToG [Y) WTFIT dsc% Ralobn a%aa#dabﬁ
QDWORD.

Explain the nature and extent of unsoundness of mind required

to exempt a person from criminal liability with reference to

leading cases. Marks :
Rear o8 THTENERODN 22 B30I STOIPE BREMOTENT
BoFTNLD LSTEIT SOTAT tﬂzﬁgoda ;;drasﬁ BTy gsmssi

QWORO.

Explain the circumstances under which culpable homicide

amount to murder. Marks :
(Chsepla] sdaa’az,c:m CINS BoTIFNLY. BpdodnRmogd cbowzﬁagL

QWORD.

What is kidnapping ? Distinguish it from abduction.
FBVRTED Q0TI ? fadaia Shvtellalafiost AL

What is criminal misappropriation of property ? How does it
differ from criminal breach of trust ? Marks :

R SToDT TBONFACIREN 0TI 7 T 03RS dedodd,
ToRE Fowd TR eEEoS apz\gmhd?
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Explain the ingredients of the offence of ‘cheating’ with illustrations. Marks : 16
‘T0WT O SToIFS PUBNTIY, NTRTTRRER0ON ITOR.

Explain in brief the offences relating to marriage. Marks : 16
amws ROWORRT meamﬁi :Joga_ojmﬁ QDRO0.

Write short notes on any two : Marks : 2x8=16
OvspInjianiateln add% Cos/ ol NlelevvioR
(a) Accident.
TBI.
(b) Dowry death.
56:312%’ 0.
(c) Criminal trespass.
TORT 880D,

. Solve any two of the following problems : Marks : 2x10=20
FINSINYE cINPYTRT0R AT JFTe ef‘* WRBOXD:

(a) ‘A’ lntendmg to permanent by disfigure B s face gives ‘B’ a
blow which does not permanently disfigure B’s face, but
causes ‘B’ to suffer a severe bodily pain for 20 days. Discuss
the liability of ‘A’.

e’m WS :i.ogaaé“b ToB BTN LTCRTARYRNS NE3e300s
‘W womd D8R &f\cfwwﬁ $B00T ‘WS SO0y
Ddf\umg%dg)aﬁ’ . B85 W 20 O3NS 2O ST Gt
SRS BRPIRWTNIT. ‘' wmv&ﬁo\o:ﬁd zéwm@
‘A incites a dog to spring upon ‘B’ without ‘B’s consent with
an intention to cause fear to ‘B’. Whether ‘A’ has committed
any offence ? Give reasons ?
‘W QOWRBAIN BWOFCIVOLOTRRIN  NT eS0T 3,33 933
TRBCWOZ ‘R Y DOV ‘W Boed HBO[eI
mcm:a Q9 ‘W' CINJYTTEER ooy df&aa“dvﬁaﬂ
506 3RB.
‘A’ threatens to publish a defamatory libel concerning ‘B’
unless ‘B’ gives him money. Whether ‘A’ has committed any
offence ?
‘O'T0 BRIZTO ds;&ﬁdda ‘W i, *’swwxmh
BTORITE. et TI0 IR Bro FAROTOE IR,
Fedear. 95 ‘U CINJTREAR SToE R dRTIFOE ?




IR R 0105/0524

First Semester 3 Yrs. LL.B./V Semester 5 Yrs. B.A. LL.B./B.B.A. LL.B.
Examination, June/July 2017
CRIMINAL LAW - | (Indian Penal Code)
(Old Batch)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer Q.No. 9 and any five of the remaining
questions.

. Q. No. 9 carries 20 marks remaining questions
carry 16 marks each.

. Answers should be written either in English or
Kannada only.

. BB € B v o) [INIO, cIRFTe VR TJRI)
SUZORD.

. FB € § 90 eoind Zone wWPS TR S
Ob e08ned.
3. eugdndR) e, WRRDRRO IFESRNO 22803,

Discuss the maxim “Actus non facit reum nisi mens sit rea”

with suitable case law. Marks : 16
“ o300 OB engwaod RNBRT BRTD oIS ij)%@a 9T GERRTRY”

QoW mgw@‘ :iragmd sgifdmrfemoaﬁ 2W33F 0.

Explain the right of private defence of the body extending to
causing of death with its exceptions. Marks : 16

£ nystal @édﬁﬁoﬁa ﬁ% BeBdn dﬁ;é’mh &dwd&a{ow SBR[
msa)_jmmgd aowdaigt 3530 9T TBNER0DN DWOAR.

Define Culpable Homicide and discuss when Culpable Homicide
amounts to murder. Marks : 16

9To B dda%zso:oag TOYRARD WY CIRTN SToRE SOBS,
BRBSRNIZT a‘owcﬁag B3FR0.
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Q. No. 4. Explain the essentials of theft and extorsion and bring out the
differences between them. : : Marks : 16
do) d) weRGENY SRIYS wodidy IR0 W,
SRNY BT QT FTYANIR), SR

Explain the essentials of “Rape” with its excéptions and

punishments. O Marks : 16
“e@amd”d esa‘aasdszsﬁ eoéﬁ@d& 930 HTRTNGD TN
BorRINSRodN JTOO. '

Distinguish between ‘Wrongful Restraint’ and 'Wrongful
Confinement' with suitable case laws. Marks : 16

‘B WoRS’ WF) ‘W Téwoy'’ aﬁaigl ARgeer Fsoransieotn
QONBO.

Explain the essentials of ‘Defamation’ with suitable illustrations. Marks : 16
‘BRI 0D BRDTE eﬁosﬁeﬁssg( RRATT Q@Joéﬁeﬁ;aoaﬁ QS0

Write short note on any two of the following : Marks : 2x8=16
CBRYTTTR adddgt 0D OFO LD WEOWO :

(@) Medical insanity and legal insanity

FRsecd DRRBOZ 0 PILS e8I

(b) Abetment and criminal conspiracy -
dae,—"’aéedz% D) TOIRE wIROUW

Hurt and grievous hurt.

goleveRne ST Ty nlov )
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0.9. Solve any two of the following problems : Marks : 2x10=20
CINPTAR DTR FRRNI) BOBOKD :

(1) ‘A’ and ‘B’ are neighbours and both fell in love with each

other. ‘A’ is major and ‘B’ is a minor girl. ‘B’ telephoned ‘A’
asking him to meet her at a bus stop. ‘A’ came to bus stop
and both went to Registrar's Office and got married and
eloped. Her father files a case against ‘A’ for kidnapping
his daughter. Decide.
‘@ R ‘W I0BR0eE3 o2 ged:@ wdau‘&sdddo; ‘o
%), WF WODRT 000TT B ‘W 2, STRT  WODRT
BOBON. ‘W 030 BHRTWIHRCH [NLOT ‘@’ IJY WA
BoroTeand, yeed SRBTEZ Beb. ‘v worNn faz%da
Speored Beleont BoeN TF[CINA B BREOIT. =Y
308 ‘@ RoetS STBOHTE ToE BRRIRT. SERIFIXD.

‘A’ married ‘T’ and after one year he deserted his wife.
The wife after inquiries believed that her husband died in
an accident and believing herself to be a widow married
‘v’ within 7 years of her first marriage. After the marriage
‘A’ appeared and filed a case for ‘Bigamy’. Decide.

‘@ D e oD DTBINRG 20T BRFT J03T BBV
WED, WBOT]I. 3&’5036 3 Y0 QWTH JNB nocs’do
eﬁwa;yasd@ dsdsa BRODTRT Q0T FoW, I AS030W
Lo RNCIaS) NER 7 aiwrﬁed 2w, ‘T 00RO
cIRrOTY. |BT S038 ‘@ D absé,qéraozso ed@ s:acbc:f
Gw@3 BRI BRBTS. SETRFRO.

(8) ‘A’ tried to pick the pocket of ‘Z’ by thrusting his hand into
‘Z's pocket but nothing was found in his pocket. Decide.
‘@R TPETS Bedrt 35* g o8 39 BB @oﬁo@fv@ﬁ
T3 e, DI ANPYOY, SENFAND.
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| Semester of 3 Year LL.B./V Semester of 5 Year B.A.LL.B./B.B.A. LLB:
Examination, December 2016
CRIMINAL LAW - | (Indian Penal Code)

Duration : 3 Hours Max. Marks : 100

Instructions: a. Answer Q. No. 9 and any five of the remaining.

b. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

. Answer should be written in English or Kannadacompletely.
BAESRE: . BB 0. 98 R NOTYNIE, et DT Iren &UZORD.
3 30.9%20 2081 LVRTYNET 3 16 LoBRLD.
OS2 :Linm woh eony, &5 INIIO, @ 20303023

4

. Define unlawful assembly. Explain the scope of liability of a
member of such an unlawful assembly for any unlawful act. Marks :
BB BRLTR), 9,303,J%0. CIRYTe RRZ VTG, 333 wosm
ﬁja 2rus RS I3RS ERmEMOOECE WRQCRRY 3080,

. Explain the law relating abetment under the Indian Penal Code
giving suitable illustrations.
Z0EE0D ToT RoSoDBODD. 'do%ed%ﬁ RoLoRIT @m&-si zR%
SCTODOFBNARON O,

. What are the ingredients of Murder ?
3RS0DH HTOIGE PLTOBNTIRH) ?

. Explain the criminal liability of persons for the acts done in
furtherance of common intention

sjared 200 3 diaTERn Shad edood dEreR edd

\,.)

Un_aé wmmoéo:aQ Qdofuo.

. Define wrongful restraint. Distinguish it from wrongful confinement
with suitable illustrations. Marks : 16
SR> TSOTHDY YVIN0. BBRD WOPSER0 [WITI
ju:«r\)d&b % g ’\vmddi"‘-{é‘uv@ﬁ Dof@r\)a

=%
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9. Solve any two with reasons :
BeTT S TTaRRON pcieriioh

SDM Law Library

O O

What is extortion ? When does extortion become robbery ? Marks : 16

WERTBED 20TV 7 WA cSRsmon RoOredRrdgs ?
State the law relating to preparation and attempt to commit offence. Marks : 16
STOENTRY N0 A =Py Foberen HOTE PIRINY Bewd.

“< (] -0 o %

Write short notes on any two of the following :
B3 FNTYNTY ST OB OF0 833063 2000200
a) Criminal Conspirancy

FO RS 2 el
SToIOT WHROLD

b) Offence while doing lawful act

9 -~ - . — — —pd -
B B80T BRTOTRN ST LTOIG

s S SRR

== Ao )

ToeWoowiy T OUAow
2) ]

Marks : 2x8=16

Dowry deélth.

303858

@

c)

Marks : 10x2=20

a) ‘A’ an officer of court of justice being ordered by that court to

arrest 'Y’ and after due enquiry, thinking Z to be ‘Y’ arrests
‘Z'. Decide.

o A R e )
R A
P

3
R ) oy
WORAIN BT
Cod ' edodi b A =D o oed
T P O30 Qo

39—
QO SYTR,

examination appears for the examination. Decide.

T N PR SRR L R Y ) S detac okl g g
WD W OCVT TOLT W TVD WY AV
@ < w) &
s

) : 3 ; ks eg T 0TS, DEDFCLRD.
A says —“| do not believe what Z asserted at the trial because
| know him to be a man without — veracity”. Is ‘A’ committed
any offence ?

rry
&

e B ded e o e
OSDA PRV V) wbh&/&a'

B
VU AN WD

o e N T i e
VORI O
- ped N =
WIS 00,
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First Semester 3 Year LL.B./ Fifth Semester 5 Year B.A.LL.B/B.B.A. LL.B.
Examination, June/July 2016 '
CRIMINAL LAW — | : INDIAN PENAL CODE

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No.9 andany five of the remaining questions.
BRw3Sndd : BB D033, 9 Ty VLT CIRT)TIe DT :u:ﬁ*r@ﬁ Upcier

. Q. No. 9 carries 20 marks and the remaining question carry
16 marks each.
B3 9 20 20370 B LVOT TJNOTt 16 LosNED.

. Answer should be written either in English or Kannada
completely.
GUFTEID) ROTPREDF SO QONET I LT IFRBEG WioDIeR.

™

. Who are the possible parties to a crime ? Discuss. Marks :

o — —_ —r) - D, N - .)..J PN -0
WOT) BTWOIHT A0SO wgmu 30T 7 WSFA

Enumerate the different kinds of punishments recognised by
Indian Penal Code. Discuss in detail with special reference to
Death sentence.

Cﬁd&fb

Gv\

. What is giving false evidence ? Distinguish it from fabricating
false evidence.

Aow Nuﬁ NOTT 9 BTER, AR, T, A AP BTN
v [ wp O el
js?mmeeﬂa 9

. Whatis Force ? When does it becomes criminal force ? Explain.
WO DOTTERD 7 BT CITN BTOIPT’ WTNOBE 7 ' TOR.
Define ‘theft'’. When does theft becomes Dacoit 7 Explain. Marks : 16

‘BB’ 09D, AR BEIID TAReBIRRISS P DION.

)
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Q. No. 6. Discuss the term ‘defamation’ with exceptions. Marks : 16
fmﬁm&o&*&a ESTTOTNLR0ON 23232,

Q. No. 7. Explain briefly the major offences relating to Marriage. Marks : 16
WEDE  FOWORAT TT0D SEulenaly ) ROTTON DTOR.

Q. No. 8. Write short note on any two of the following : Marks : 2x8=16
NI oot STBE oo 83069 B0 :

Public Servant

T W I0FT

Sedition

WOB® FoLdeen.

Q. No. 9. Solve any two of the following problems : Marks : 2x10= 20
NS P mBr @ :m:,(cmsi (gﬁdm:ﬁ;’o) WD

(@) ‘A’took away an unmarried girl who was under 16 years out
of custody and against the Will of her father. Decide what
type of offence ‘A’ committed ? Give reason.

‘@030 16 BRFBAINT L90T0&S BITONCHI 580 Bozdodd
B[R DTN SIS FBOOB FROFACINTIS, ‘@030 CIRT
clof: ] eﬁc’azjﬁ@ m@w—%s ?- TU IR,

‘A’ builds a wall across a path along which ‘B’ has a right of
way ‘B’ is there by prevented from passing. What is the
offence committed by ‘A’ ? Give reason.

‘R0 ‘W LS oon waie:af\ m\aomi 3% W ALEES
Tort SIS, ‘o’ o0 03D ewmww;g ma@maa" ? BT
BRB.

Ananth being legally bound to produce a document before a
District Court. Intentionally omits to produce the same. Decide
whether Ananth has committed any offence ?

OVOBR BIRDWRITN TSN  22en 09, 03NOOT,

o

o % ¢ ol
RORIETNS). NS TPTFBN BIY ROABIPYAO, 9Z08d
¢ <«

(22 ]

ANJIT3R LBoG :xn@agéai)e? NEIFONR.




SDM LAW COLLEGE LIBRARY

|0 0 0105/0524

First Semester 3 Years LL.BJFifth Semester of 5 Years B.A. LL.B/B.B.A. LL.B.
Examination, December 2015

CRIMINAL LAW - |
(Indian Penal Code)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Question No. 9 and any five of the remaining
questions.
2 Question No.9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.

. Define crime. Distinguish it with morality and explain the role of
mens rea in statutory offences. Marks :

aa’o:t#jas TOLTOAR . 'adw 83T RIAA T ToARe
mc\d'ﬁ‘f) 330'\&5 33'.»4'& wugd "‘77’\ oz

_ Discuss the maxim “Ignorantia facti excusat legis neminem
excusat”. Marks :

“Zon30d HNIF IINTF, PIRD LNFD) IVRTFIY 20
g wh - o

-~
P | ) P
BRITD IR
- -

. Explain the distinction between culpable homicide and murder.
Discuss when culpable homicide does not amount to murder.

ET008 SoBSNR 3 Eedntn SR FIANVRD LT[0V, 0IRE
LToOT a,da)‘:é ~=mmqag§md;ﬂi LRIFAL

. “In all robbery there is either theft or extortion”. Explain.
“20 O LTCENYY, WY WS dSr QT3¢ *d,\}’
wdbi;.
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Q. No. 5. Define and distinguish ‘criminal misappropriation of property’ and
‘criminal breach of trust', Marks : 16

S
s P
CRED D>

X =

Explain the essentials of ‘Criminal Trespass’, ‘House trespass’
and "House breaking'. Marks : 16

i e S Y s B ) - - S et
3.1.\/:.:.‘36 SET Y, e LAY e ¢ ’-'5355,‘&'»3

02T 230,30 F =0

Define forgery and making a false document under Indian Penal
Code. Marks : 16

-t ned S deS ) daed P T ol =) de e, B ot —
ANRY, ARR OB AW, Tedets duESodad oS T
Y el : ~ - o

FamuIneg) =“fiow= o 4
SROC0T. JoTTHAN,

Write short notes on any two of the following : Marks : 8x2=16

o — g — - et Ty .
OIRJTHTER ¢ Vcsi OFO L3063 B0

a) Common intention and common object.

Tt cmned oo TNNTY T P oA
—a:i;:,t.a RSN g ,«}.\?i: -q:ﬁu::u G V.
i

b) Attempt.

- AN
v WAANND
~ «

¢) M'Naghten case.

QT TR T IO
Solve any two of the following problems : Marks :10x2=20
CORRYTTTL ICT BSOF 6:?1 TOBOXO ;
a) ‘A’ gave a poisoned apple to his wife intending to kill her and

the wife ignorant of the matter gave it to their child who ate it

and died. However, the wife did not die. Decide.

i } B o 30d Sndidedon

| )
= - 5 o - — - 8 = f g
RN, LT0Y OTIT 20t0T Tord oo
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b) ‘A’ kept the bottle of medicine on a shelf where some other
bottles containing poisonous solution for photography
business work was also kept. In a state of drunkness before
going to bed ‘A’ mistakenly gave his ailing wife the poisonous
solution, as a result of which she died. Decide.

2 BRO AeSoDR) RosRE MRTRTNG,
% « e
5 R TR wesnsh s BORCDLY, [T,
oo mq ‘W 3P neiobd e

2P BorREt DR TTIBI, BRLIZ00T R0 =002

—

. -3
. SeSNRF A

c) Three persons S.D.B. and a boy P were cast away in a storm
on the high seas and were compelledto a boat. They had no
food and they wanted to kill the boy out of necessity to survive
and therefore killed him. Decide.

T AL, R Y 0w BN, I A Satals)
200 CTRECIE AR TR WEATOT 108D dnerdnt
LOTBN WHERT. Nt FUE TOHACS FTone 3300

~

A -

wiosiedor) HUEEB0T RN, TALITT. SeRF QA
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| Semester Three Years LL.B./V Semester Five Years B.A.LL.B./
B.B.A. LL.B. Examination, June/July 2015
CRIMINAL LAW - | (Indian Penal Code)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer question No. 9 and any five of the remaining
questions.
2. Question No. 9 carries 20 marks and the remaining question
carry 16 marks each.
3. Answers should be written either in English or Kannada
completely.

Reulnsd: 1. M.J.ug a ZOA TR WVPE CIRTTRTOR D *‘ﬁﬁ':r YOO,
2. :'19 5’. 20 50800, Loon B3 TFT 16 wosrisd
3. m‘gdd?ii BoFRroroh QOoNIAT Y LT IFITE,
wochedes.

Explain possible parties to the crime. How the liabilities of Parties

varies ? Marks :

ETRGEY ROLRT, *‘ﬁn‘dd"“ 30, D530R. TEMWTT BeBm0Ene Ten
F$:>zf\d>3" ?

What are the criminal liability of children and unsound mind
person ?
DA TR ¢ :ﬁ: SOTAT FINY SToRE BABWOED

What is hurt, when does it become grevious ?
WO DOTTERD P O3RN MR S63 oIS s 7

What is robbery ? When does it become dacoity ?
RO oTBeR ? cdneen B BEREIRMZE ?

Discuss the offences relating to marriage.
amsg ﬁcuodwz-{, uadc:drwsil W3 A

Explain the offence of Kidnapping from lawful guardianship.
Distinguish it with abduction.
aaio:b wd deocs:zsm STCGTI) VTR BT,

adrwav&ri is:
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| Semester 3 Years LL.B./V Semester 5 Years B.A. LL.B/B.B.A. LL.B.
Examination, December 2014
CRIMINAL LAW -1: INDIAN PENAL CODE
(Course - V)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Q. No. 9 and any five of the remaining questions.
RS 1 = R0y, 9 L) NPT cR)Te DT a;eir{a}ﬁ SUZOR.

. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.
T 93 20 0o3ned 0B B B& TINR 16 oBris.

. Answer should be written either in English or Kannada
completely.
UGTTA), ROTYREF 0N BONGT® 39, w0 THREY, W3oRIeBD.

Q. No. 1. What is ‘mens rea’ ? State its significance in statutory offences. Marks :
SToVRT TIVRY, ROTTERD ? TIRIECD STOIFNYY, w0
TRRNDZODIY 9.

What are the circumstances under which the right of private

defence may be exercised ? Discuss the limitations. Marks :
CdRE RTINS, o9AN TS TEOD ﬁiﬁ?{ 23TRONRWTBIT ? VWO

a8 mﬁ@@ WRIFA.

Explain the extent of liability for acts done in furtherance of

common intention. Refer with cases. Marks :
c:)i.raeq;es TPOBN INRBT gejsﬁe:)f\dod BRBMOFTOD mjéjcsaa’gk
QRO TWHOEANARODNT SVSEDA.
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Q. No. 4. Define Murder. Distinguish between culpable homicide and murder. Marks : 16

RS o) TR, STO0E IOV Y BcHe BB FIRBR)
SQA.

What is Hurt ? Explain the circumstances under which hurt
becomes grievous hunt. lllustrate. Marks : 16

MROD DOTIBERD ? O30 ROTILIFTIPE) MO SeMPOIETNIZE ?
TTWOSR.
Y ©
Explain cheating. When does it become cheating by personation? Marks : 16
SOBSODT) VFOR. L oI BRERUTOE Ted
WOWRORTIMIZT ?

Define forgery. When a person is said to have made a false
document ? Marks : 16

RO, ARIODR) TR, CIIVTIN %), RFOIN RO, TSI
¥ Jed < Ry ) 20 [¥) =3
73’)5:5 d&ﬁ%m@é QOT BEFIBOTD ?

Write short note any two of the following : (Marks : 2x8=16)
INS OINJYTOT3R DTBE, OO £35388 2BCD

(a) Criminal conspiracy
ESTWoORT WP oD
Causing miscarriage
MYF ToBBRI0EBRBY T
Bigamy.

0,283,
S Al
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Q. No. 9.Solve any two of the following problems. Marks : 2x10=20
F9NI CINT)TITBR T #do%ﬁ#aﬁi WIRDOR.
(a) ‘A’ whois a citizen of India commits murder in England. Can
he be tried in India ? Give reasons.
03T TNOBIRY, VOFOBIY, 20w IR BREITY. SIIIY
PO0STY. IJBN MHODTRRLTOTE P TOO ZRA.
‘A’ Doctor in good faith communicates to a patient that he

cannot live, the patient dies in consequences of shock. What
is the liability of ‘A’ ? Decide.

‘e Q0w FTIO W, TRENT VeIV LTBLDT 0L ROQOIDY

I

R
RRRS00T SR, & ROOOD STFBO0T BRENCIN TR
LROTITS. B¢ S W Bod0eRd 7 DepF CWA.

‘A’ incites a dog to spring upon ‘Z', without Z’s consent,
with an intention to cause fear to ‘Z’. Whether ‘A’ has
committed any offence ? Give reason.

‘o QOLTBIN BEOBCIN0EITINTOD wc’égzﬁaod B3 I3
SESEle Ol ‘'S0 B, Splevelesvias) ‘wd Boeed TTOWoS
BRBTS. BY, ‘@I CINJIYTETR STTG mﬁamgsoﬁae?
59050 BR&.
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First Semester of 3 Years LL.B. /Fifth Semester of 5 Years B.A. LL.B./
B.B.A. LL.B. Examination, June/July 2014
CRIMINAL LAW -|
Indian Penal Code

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all5 Questions.
2. Figures to the right indicate marks.
3. Answers should be written either in English or Kannada
completely.

UNIT -1

Q. No. 1. (a) Discuss the factors responsible for variations in liability is
criminal offence. Marks : 15
BTOG TITENSOT TBRFWMOBOD :ée’godaﬁe:ﬁ BOTLOTONOR
woa’ﬁ#a’i OB RIFA.

OR/egs»

“The intent and the act must both concur to constitute
crime". Explain this statement with reference to Khandu's
case.

“e;aa’c.:ﬁs;, QT TB) FINIORR RNTBRROBTLIERY”. 84
&’e%oﬁaaﬁa ‘2000 TITEITI), UV DOR.

= ™

Write a note on “wrongful gain and wrongful loss”. Marks : 5

BT oy Y @I IFE Wik £3Tpd 2380000,

OR/ez

Write a note on solitary confinement.

v -2, =3 . ; 3
NB02 AT=OR ufj\ £35363 LS00,
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UNIT-11

Q. No. 2.(a) Whatis private defence ? When does the right of private
defence of the body extend to cause death ? Marks : 15

- — O )
LOAN VETE 2o
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Who is an 'abettor' ? What is abetment of a thing ?

— D ), —tad o ) ._Jn\?).g..)._l-_J =9 o S
QOHFTT 208 oIRD 9 2,00 DR Q%005 0tIded 9
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Write a note on election offences.

T T W} 83088 WBoWD.
OR/e5=

Distinguish 'rioting from affray’.

PO\ A ) D
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UNIT -1

State the circumstances when culpable homicide does not
amount to murder ? Marks : 15
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OR/eagsss

What is wrongful restraint ? Distinguish it from wrongful
confinement.
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Distinguish hurt from grievous hurt.
mc&dﬁi EManlevelaleini T3 08R.
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Write a note on criminal force and assault.
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UNIT -1V

Q. No. 4. (a) Whatis Kidnapping ? Distinguish it from abduction. Marks : 15
BIBOD 0TTeR ? "adda EBTBODDOT T e3n.

OR/ea5

How do theft and extortion become robbery ?
TR do@i_g uoa'%d BERQ) OIen z’o@ﬁmmgd ?

State briefly criminal misappropriation of property and
criminal breachy trust. Marks : 5

HRAOL HWOIRE TWRFIo3nen B STIPE DT RS
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Write a note on cheating.
To3JoDH u;\ £33069 0TB0D.

UNIT-V

Discuss criminal trespass. How does it differ from house
breaking ? Refer to cases. Marks : 15

Souenlal BT oW gdezﬁwa’i REFR. B dodﬁ%@ﬁ@o&ﬁ 3en
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What is defamation ? State the exceptions.
BRITR 0T 9 @a’ssadﬁ%g( 92,
Write a note on 'Mischief"'.
FRNRII'T w;\ w:;ﬁ WBOA0.
OR/e8

State the ingredients of adultery.
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